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IAM aljon  Review
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AP Calcudus Integration by Pawrtsy Worksheet
Evaluate the following by hand.

1) fx(x + l)gdx
U=Xx dv=(x+1)8dx
du = dx v=é(x+1)9
lx(x + 1)9 - fl(x + l)gdx
9 9
éx(x + 1)9 - é(%)(x + 1)10 +C
2) fxe‘xdx
u=x dv=erdx
du=dx v=-e"
—xe " - f—e‘xdx =—xe - +C

3) [xIn2xdx

u=In2x dv=uxdx

2
X

du=ldx V=—
X 2

2 2 2
X ln2x_f£dx=x ln2x_x_+c
2 2 2 4

4) fx(lnx)zdx

u=(lnx)2 dv = xdx
2

du=21nxdx v=x—
X 2
=lnx dv=xdx
21 2 u
M—fxlnxdx 1 x?
du=—dx v=—
X 2

2 2 2 2 2 2 2
M_[x_lnx_ffdx}M_X_mHX_W
2 2 2 2 2 4

5) foSinxdx
u=x>  dv=sinxdx
du=2xdx v=-cosx
u=x dv=cosxdx

—x’cosx + f2xcosxdx ]
du = dx Vv =sinx

—x%cosx + Z[xsinx - fsinxdx] =-x’cosx +2xsinx +2cosx +C



6) [ sinxdx
u=e* dv = sin x dx
du=2e"dx v=-cosx

2x
u=e dv =cosx dx
—e* cosx + Zfez" cos x dx . i
du=2e"dx y =sinx

—e* cosx + 2[62" sinx—2fez" sinxdx] =—e* cosx + 2e* sinx—4fez"' sin x dx
2x 1 1 2x 2x -
e s1nxdx=§ —e"cosx+2esinx|+C
g .
7) foxsm2xdx
u=x dv=sin2xdx
1
du=dx v=—50052x

T T

1 pn 1 1 .
+—f cos2xdx =|—-—xcos2x + —sin2x| =——
27J0 2 4

1
——xcos2x]
2 0

8) f;xzex dx
u=x* dv =e"dx
du=2xdx v=¢e"

u=x dv=e'dx

1 1
2
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du = dx y=e"
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0 0

2
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